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%Tomas Materdey, 2/06/06 
clear all; 
close all; 
sec=l ; 
nf=200;%1000;%10;%=45; 
f0=15;%9000000; 
%deltaf=2*f; 
sr=1000;%100000000; 
deltat=l/sr; 
ns=5000;%18000;%36000;%1000; 
nt=ns*deltat/5; 
sq=zeros (1, ns) ; 
sql=zeros (1, ns) ; 
n=deltat:deltat:nt; 
nr=deltat:deltat:nt/S; 
clear sq; 
sq= (4/pi) *sin(2*pi*fO*n) ; 
sqo=sq; 
subplot (3,l, 1) ,plot (nr,sq (1: length(nr) ) ) title ( s t  harmonics ' ) 
sql= (4/ (3*pi) ) *sin (2*pi*3*Wn) ; 
subplot (3,1,2) ,plot (nr,sql (1: length (nr) ) ) , t i t  ( third harmonics I )  

for i = 1:l:nf; 
sq=sq+ (4/ ( (2*i+l) *pi) ) *sin(2*pi* (2*i+l) *fo*n+l/n£) ; [ end 
subplot (3,1,3) 
plot (nr, sq (1 : length (nr) ) ) , title (strcat (num2str (n-1) , odd 
harmon~csl)) 
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